HENEREREHES

Mt

DHM3EFEIOH2H (K)

[fi¥£a]) (847 1 kg )
FRSETELE AfEE W =2 = B Z 1B fm &

ShE 238 T 442.5 209 100
AAGH LA 62.5 1,246 474
JUH LA 540.0 988 80
LS HLA 495.4 503 20
TFEASHLA 368.8 889 169
SEHLA 688.1 272 20
THLA 292.6 721 239
<aHLA 41.9 1,019 189
FAALY 900.3 846 129
<7+ 23.3 1,259 1,019
7o 128.1 819 359
St 44.0 1,526 1,166 | 1"
FHA 102.9 551 180
TIAYVTAF % 85.6 211 20
+7>7 2,531.6 200 20
HFHIS 299.4 30 20
FWR X UL 48.1 766 239
A F 34.6 1,346 279
THLY 43.0 3,300 1,000
< k5« 196.0 380 20
A A 30.4 189 20
XA 526.0 770 33

Nt 7,925.1




§::3::) (BT ¢ kg )
TRETRAE =V H =2 = 1B Z & M =
SE  23& sH= 26.7 4,100 200
R e . 11C/S
TH—5E 49.5 13,893 3,850 (G o
254 R 37.7 529 396
ZILAA ST 339.7 470 179
ZILAA F5E 480.0 4,440 1,522 ff%”g
i : c/s
TUAH 257.8 550 200
e g(%ZOC/S
7o 58 100.0 1,818 621 |or 2
=247 57.0 619 200
TFE47 3,182.3 409 20
FE+<3 370.4 1,630 1,219
aitus 12,826.2




[f¥fa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
EERRE 52 |TU 63.8 158 39
AAFHLA 87.5 1,434 1,354
=N 188.2 341 101
HFHTS 186.6 40 20
>0O%4/) UL 151.9 1,373 989
8905 40.5 819 281
RZF 528.0 888 346
JEZHAN 71.2 92 31
SFIA 37.3 2,222 411
RORD 81.9 1,000 51
< hoFA 46.2 380 30
HY= 84.8 1,500 100
AnER#E 55% 2SR 16,743.6 456 50
BT 8% Ry FHA 1,828.3 400 220
®o 37% ESX 21.4 1,670 569
CHE 20,161.2




[;Efa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
HE 238
EERFE 52 |ESA 227.6 1,800 500
<A 45.0 1,500 500
R+ 276.5 1,000 500
NS0 26.1 2,500 600
iR 6% = 381.4 2,500 800
®o 37% ESX 663.8 2,000 1,000

D
[ =]

1§ 1,620.4




